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e Please check that this question paper contains 10 printed pages + 1 Map.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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(i) 39 J97-97 &1 9K GUSI § G715 1637 7971 & — @8 &, @8 &, U T 3N

e 7 |
(i) 39 J97-99 4 $T26 JH & |
(iii) G 397 SAfHard & |
(iv) YcI% 97 & 3% 39% GIH7 1qT T 5 /

(v) T TE1 87 7% 3Hd AY-IFT FoT E | FAH FoA 1 3HF F1 8 | 75 @
Yo 97 %7 I 30 el & 37ferk &7 781 &7 T30 |

(i) Y97 GEIT 8 & 18 TF Y% Y97 8 3 #T & | 598 & Jdb Y97 & I

80 og] @ 37feres @7 781 &7 FfT |

(ii) 97 GEIT 19 T 25 TF II9F 7 5 3% F & | 598 @ I9F Y97 HT IH

100 3753 @ 37fere &7 987 &7 =eT |

(viii) Y97 T&IT 26 HHFGT F97 5 37% &7 & | 399 & 97T & — 26 (A) 37K 26 (B) /
26 (A) 2 3% FT FAET T TIT 26 (B) 8 3% H YA & & | HHIGT F Jo7
7o §4 T 3G T FR-GIaT & 3K 7791 BT |

General Instructions :

(1) The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

(it)  The question paper has 26 questions in all.
(iti) All questions are compulsory.
(iv) Marks are indicated against each question.

(v) Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark. Answers to these questions
should not exeed 30 words each.

(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers to these questions should not exceed 80 words each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

(viit) Question number 26 is a map question of 5§ marks with two parts —26 (A)
and 26 (B). 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.
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SECTION A
1.  37fer a9 foureh i SHAT o Thieh{Ul okl SIHeh 1 hgl T o7 2 1
AAAT
Torraam < gl S8 9 3 R 7 fog “adarardt e ot sy T 9 2 1
Why was Otto Von Bismarck considered as the architect of the unified
Germany ?
OR
Why were the Vietnamese provinces like Nghe An and Ha Tinh called as
“electrical fuses” ?
2. WA QX A UH HI waE AT Tb YgU $wA H & g3 AfqH 3N WEHAH
7?2 1
AYAT
Y=g 3 YA gfagm @ 0ig o was i foR 2 1
Why did Martin Luther say that ‘Printing is the ultimate gift of God and
the greatest one’ ?
OR
Why did Premchand reject the nostalgic obsession with ancient history ?
3.  ufvarft Uee MR ORI H yad ot o fIU 3Tk gl HiNg ¥, Weg S
rfersham I IR fomera & fobm R 7 | 9g waneAl i fRw Aoft ® orar
8? 1

AYAT
I T SIS T, BEgIe 3R ATFHISH ol Qs 7, NPT 39T oAt
TIX GId < ®9 § foRam ST Ehat B | ifehd 39 3299 I gfd o fofT gAR 9
SIS qoheleh! TH T8l g | 39 TEl ol TohT Th o GHIEHET o 9 § T Hohd
8?7 1
Favourable conditions for wind energy exist in Western Rajasthan and

Gujarat, but they have not been utilised and developed to the maximum. It
falls in which category of resources ?

OR
Water is a compound of two inflammable gases, hydrogen and oxygen,
which can be used as a rich source of energy. However, we do not have the
required technical ‘know-how’ to use them for this purpose. What kind of
resources can these gases be put in ?
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4 1950 3N 1960 ¥ 2T ¥ S e § 3 G ¥ i T g w6 o 2

Why was there an acute problem in Brussels during 1950s and 1960s
between the two communities ?

5. ‘O ST fRE YR giagn gM it § ?
AYAT
ARG qNGed § ‘STavashalal 1 Sigdl TN fohd JhR GH &1 & ?
How do the Demand Deposits offer facilities ?
OR

How is Double coincidence of wants not appreciable in the contemporary
scenario ?

6. AW A ToFH TR UG HEAAT ! SIS HFIAl (TH.GAHL.) % ®9 1
I I SR 7 2
How has globalisation enabled the national companies to emerge as
Multinational Companies (MNCs) ?

7. I Ul AT % forw ot f B S Saa Gl 7, 9 WA urEEl
giifead o & T 39 39 W HH-A1 Teefag (AM) @ 1 J=I" Sl ?

If you have to buy a bottle of packed drinking water for your journey,
which logo will you try to find on it to ensure the quality ?

Qs @
SECTION B

8. U H AW Tt o YEMC quehl H U Tehal € FEIUd IR 3gRag 9
fiehe &9 4 IS gL A | W o HEgH A o [T 3EehT a1 A A1 ? HHHATST |
arera

s b1 HIEE e aren feeEm form yer oY e @ fiw om 2 T
HIT |

Ideas of national unity in early nineteenth century Europe were closely
allied to the ideology of liberalism. What did it mean for the middle class
in France ? Explain.

OR
How was the French part of Hanoi different from the native quarter ?
Explain.
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9.  “HEW 4 TS AT TR AT SHAT i ThH-GEL o AU e @ feam 1”7 5w
Y I ITYH dob Algd YA HIfT | 3
atera

“qReiIT 3 ITATET BT ST THNST H YREdd A o [T Ueh TRh 919 o &9
T foran 3 17 38 A <l ymEIiveRar g hifsu | 3

“Printing brought the reading public and hearing public closer.”
Substantiate the statement with appropriate argument.

OR

“Indians used the novel as a powerful medium to bring change in the
society.” Validate the statement.

10.  o9i-sel HEU Al areeitn faftel fafim gowi § St wEneEl o w@we % forn
fopg TehR TS STt &1 3 2 3eT8WN digd T hIfVu | 3

AT

“grracia 3R UfeTies SIer@ Sd1d 8 foh g9 TT=H el § &1 91d H 3ehse
AT pfcat s 8 17 39 A I FHIRIG i & fore ffF e v | 1x3=3

How are traditional rainwater harvesting methods being carried out to
conserve water resources in different regions ? Explain with examples.

OR

“Archaeological and historical records show that from ancient times we
have been constructing sophisticated hydraulic structures in India.”

Substantiate the statement by giving three evidences.

11. < 6 SN o g sawes Yimfae gunsti S JuH hHiT | 3

Describe geographical conditions required for tea cultivation.

12. 9Rd ® Terifaes Ta1 o faehgientor @ fis gimd @ i wase i | 3
SDC]
AThAIfIeh STTEAT o I T <hl 3T(Yeh IRt S99 & foIU WRa TR g
1992 § 33T Y Tehrgl o shaHl shl SIS shiloT | 1x3=3
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13.

14.

15.

16.

17.

Explain the basic idea behind decentralization of political power in India.

OR

Explain the steps taken by the Indian government in the year 1992 to
make the third-tier of democracy more powerful.

graTieh fafirEdid @ae @i Sl Th-gE | TR H 8, g dal fafiEar]
IAT-AHT W@ % Arll &l @t df § | Fwam, Y SR die awh w=
3TN <d §U, 8 HIA %1 AT HIT | 3

Taking example of Carlos, Smith and Peter Norman, how do social
differences divide similar people from one another, but also unite very
different people ? Explain.

Sk ! TRAT 1 NG & TGH T AlhdH6h HawT 1 Yok &1 Thd
TR Y Thd 8 ? TR ST | 3

How can we assess democracy in the enhancement for the dignity of the
individual ? Explain.

‘Ta T gEehieh o i T sl STEAT HIT | 1x3=3
Explain the three components of Human Development Index.

foregi i ufifefaat < st Shifste S =wor, ferami & faeem@ O @8/ 8 | 1x3=3
AYAT

forgl i ufifeufea 61 sie HifSe e sk/or, seler & F/O-Sa | Ha1 e

3 | 1x3=3

Examine any three situations in which credit helps in the development of
agriculturists.

OR

Examine any three situations in which credit pushes the borrower into a
debt-trap.

TSI HEAAT ohE TR 310 G dWa QT Tk TH o g1 W gMHAT W

M IcuTed W g st 8 2 Ierswn afgd wuse ki | 1x3=3
AYAT

Wenfiehl 9 Avefientor Al gfshan &1 forg Topr 3T fopan @ 2 Sergwon afgd wuse

HIfT | 1x3=3
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18.

19.

20.

How do large companies with huge wealth and power control production
across countries ? Explain with examples.

OR

How has technology stimulated the globalisation process ? Explain with
examples.

aRd d 3U9RT et Y fraror gfsean foem yor Sifed, w=fielt ot om
g1y Giferd &1 &I & ? hig diF hIul s HifSu | 1x3=3

Why is the consumer redressal process becoming cumbersome, expensive
and time consuming in India ? Explain any three reasons.

Qug T
SECTION C

‘B4 @1 o e B & forel aie gvEl sl T KIS | Ix5=5
JreraT

Stedt @@ & weg § wRd A g wuet SO A e & fore Saterh feed

Ui shTehl hl SATEAT I | Ix5=5
Jra

el Tt 4 ettt g 1 7S & fotu oo T fenedl ute adtent

%l T HIT | Ix5=5

Explain any five effects of the abolition of the Corn Laws.

OR

Explain any five factors responsible for the decline of the cotton textile

industry in India in mid-nineteenth century.

OR

Explain any five ways taken up by the Britishers for their entertainment
in the nineteenth century.

1930 H WETCHT Tiet o |iod 3Tas TR IE i 1 HU ha fhar 2 Tose
SIS | 5

HAAAT

W& H STESAN el Sl I ? T il | 5
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Explain how Mahatma Gandhi decided to launch the Civil Disobedience
Movement in 1930.

OR

Explain how the Non-Cooperation Movement emerged in the towns.

21. “9rd ® = 3T AT 1 AT BT R |7 3T o Aigd 39 HYH h
fergetwor i | Ix5=5

“Sugar industry in India is facing challenges.” Analyse the statement with

suitable arguments.

22. UREE WYl % €9 § IEIATEH! o Hed hl ITYh SCTEWIN hl TR H TR
HIFTT | 5

Highlight the significance of pipelines as the means of transportation, with

the help of suitable examples.

23. “om & Wifies faueH &1 uR Sfaes sHERe T8 dfce Tafid e St e
TR T § 1”38 weH I gt i | 5

“Sexual division of labour is not based on biology but on social expectations

and stereotypes.” Support the statement.

24, ‘fgcfi™ yomedl o uftaiivg AT | 39 Jomedl o @y SR g1 h s
i | 1+2+2=5

AUAT
Teh {SIHIdeh @ o foheal Ui=l ShIF1 hl SATEHT ShITWT | Ix5=5

Define the two-party system. Explain its advantages and disadvantages.

OR

Explain any five functions of a political party.

25.  3fogeEe & @IS &% H Y=feld USHIR shl 93Tl w1 9uiq hHifsu | 5

Describe the employment conditions prevailing in the unorganised sector of
the economy.
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26. (A
(B)
(A)
(B)

1320171

T | 39h Tal A9 37k TH Gl T8 {Erefi W fafau

wus ¥
SECTION D

T AU a IR b T T R % TSR W@-AEtE (788 11 W), |
JAfrd fopu U 8 | 39 Ao w1 FEfafgd Mol hl "gEdr 9

(a) 9% €AW &l 1927 H T I eRH FT o7 |

(b) T8 TAM JgI @ Tiefsht 3 Gfea a1 Teied Iy fomam o |

1+1=2

3HY feu U WRA & UoHifae WE-AHtes | efaiad 5 9 gt di7

I ITYH Toal | gWET 3 3k 1 fafen
(i) SHIER — gl 3R S HA
(i) focmEmarer -  amfe @

(iii) STEWEEIE —  Hdl TET IAN g

(iv) AeT - EiHeSE IS uTh
(v) it e A SC

Ix3=3

Two features a and b are marked on the given political outline map
of India (on page 11). Identify these features with the help of the
following information. Write their correct names on the lines

marked near them :

(a) Place where Congress Session was held in 1927.

(b) Place from where Gandhiji started the Civil Disobedience
Movement.

Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :

(i) Jamshedpur

(i1) Vijayawada

(1i1)) Ahmedabad

(iv) Noida
(v) Kochi

Iron and Steel Plant
Thermal Power Plant
Cotton Textile Centre
Software Technology Park
Sea-port

9
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Fig:  FHECTRET 397 @acl giRaTaa qhgntaer & o/ 397 61 26 & €& T/
& | =gt ui o1 & 3o e

Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 26. Attempt any five questions :

(26.1) 1927 H HiIF = 0T (v el foham o 2
(26.2) wgTeHT et 4 ‘@foa Tas A el ¥ YE foa o 2
(26.3) 38 TS &1 AW feifigu, Sgf a9y feora 7 |
(26.4) 3I° [T &1 TH TaIRagQ, Sl fasarsT amete o= o 3 |

(26.5) Tertll wh TF w1 qW o, wEl Hd aw sE AR a6 d
Hehfegd AT |
(26.6) IO U< H TEuq Hiwedat SIS UTeh 1 9 foRay |

(26.7) 39 TSA 1 AW faIRaq, S8l e g1 g0 &ad 7 | 1x5=5

(26.1) Where did the Congress hold its session in the year 1927 ?

(26.2) From where did Mahatma Gandhi launch the Civil Disobedience
Movement ?

(26.3) Name the State where Jamshedpur is located.

(26.4) Name the State where Vijayawada Thermal Power Plant is
located.

(26.5) Name any one State where Cotton Textile Industry was
concentrated in the early years.

(26.6) Name the Software Technology Park located in Uttar Pradesh.

(26.7) Name the State where Kandla Sea-port is located.
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I3 9. 26 & foiw For question no. 26
YA T {T-AHH (TS TR )
Outline Map of India (Political)
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